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QUESTION 1

If the following SQL statement is executed: 

CREATE TABLE sales 

(invoice_no NOT NULL PRIMARY KEY, 

sales_date DATE, 

sales_amt NUMERIC(7,2)) 

IN tbsp0, tbsp1, tbsp2, tbsp3 

PARTITION BY RANGE (sales_date NULLS FIRST) 

(STARTING \\'1/1/2007\\' ENDING \\'12/31/2007\\' 

EVERY 3 MONTHS) 

Which of the following statements is true? 

A. Administrative tasks such as backing up, restoring, and reorganizing data stored in the SALES table must be done at
the table level; not at the partition level 

B. Data can be quickly rolled in and out of the SALES table by using the ATTACH PARTITION and DETACH
PARTITION clauses of the ALTER TABLE statement 

C. If an index is created for the SALES table, its data must be stored in table space TBSP0 

D. When resolving queries against the SALES table, each partition used is scanned asynchronously and the results of
each partition scan are merged to produce the result data set returned 

Correct Answer: B 

 

 

QUESTION 2

Which of the following is a valid DB2 data type? 

A. NUMBER 

B. INTERVAL 

C. BYTE 

D. NUM 

Correct Answer: D 
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QUESTION 3

Which of the following is a valid wildcard character in a LIKE clause of a SELECT statement? 

A. % 

B. * 

C. ? 

D. \ 

Correct Answer: A 

 

 

QUESTION 4

In a client-server environment, which two of the following can be used to verify passwords? 

A. System Catalog 

B. User ID/password file 

C. Client Operating System 

D. Communications layer 

E. Application Server 

Correct Answer: CE  

 

QUESTION 5

Which of the following is true about XML columns? 

A. XML columns are used to store XML documents as a hierarchical set of entities 

B. OnlyXQuery can be used to retrieve an XML document from an XML column 

C. XML columns must be altered to accommodate additional parent/child relationships if they are used in referential
constraints 

D. In order to access any portion of an XML document stored in an XML column, the entire document must be retrieved 

Correct Answer: A 
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